


























 



 

Subject:ETM (Mrs. Pushpa R N) 

 

 

 



 

 

 

Rank First Name Last Name Attempt # Accuracy Score Correct 

1 Chandan S 4JN21CS035 10 100% 10420 10 

2 Jeevitha.P 4JN21CS062 10 100% 10240 10 

3 Dhanyashree B 10 100% 9970 10 

4 Abhishek H J.4JN21CS003 10 100% 9810 10 

5 4JN21CS051 GANAVI A C 10 100% 9420 10 

6 Inchara D,  4JN21CS058 10 100% 9390 10 

7 Anukeerthana MB,4JN21CS02 10 100% 9280 10 

8 4JN21CS030 Bharath C 10 100% 9160 10 

9 4JN21CS026   10 100% 8920 10 

10 Aishwarya S G 10 100% 8860 10 

11 Gurukiran K A 4JN21CS054 10 100% 8860 10 

12 4JN21CS004   10 100% 8830 10 

13 4JN21CS014   10 100% 8620 10 

14 Adamya   10 100% 8560 10 

15 ABHISHEK K S 4JN21CS006* 10 90% 8170 9 

16 Hongirana M 4JN21CS057 10 100% 8000 10 

17 Aishwarya K P 10 90% 7840 9 

18 4JN21CS029 Atiya 10 100% 7760 10 

19 Disha D 4JN21CS046 10 90% 7710 9 

20 Iqra Fayaz 4JN21CS060 10 90% 7620 9 

21 Arpitha V 4JN21CS027 10 90% 7530 9 

22 4JN21CS020   10 90% 7480 9 

23 4jn21cs008   10 90% 7440 9 

24 Ananya S  CSE 4JN21CS022 10 90% 7340 9 

25 Bhumika.H.C 4JN21CS032 10 90% 7140 9 

26 Hiranmayi S 4JN21CS056* 10 80% 7000 8 

27 Abhishek S 10 90% 6920 9 

28 4JN21CS018 Akash L Naik 10 80% 6750 8 

29 Aishwarya 4JN21CS013 10 80% 6600 8 

30 Harshitha M 4JN21CS055 10 80% 6560 8 

31 ABHISHEK K S 4JN21CS006 10 70% 6510 7 

32 Dimple   10 80% 6460 8 

33 Aishwarya Patil HM 10 80% 6440 8 

34 4JN21CS048,Divya   10 80% 6390 8 



Sample quiz question paper answered by the student 

DSP(18EC52) 2021-22 (odd) 

 

 

Subject: Numerical Methods and its application(17CV663) 

 



 

 

 

































Quiz Name

corrosion and electrode

system

Date

Tue Jul 11 2023 3:51 AM

Hosted by

Chethan Chemistry

Average Accuracy

81%

Questions per Attempt

20

Number of Players

51

 This report displays results derived from the students' best attempts.

Players



Rank Player Name Avg. Time Points Accuracy Correct

1 Kruthi B 21 secs 20 100% 20 / 20

2 Chethan JM 11 secs 20 100% 20 / 20

3 B.L.Maithreye B.L.MAITHREYE 10 secs 20 100% 20 / 20

4 INCHARA S 16 secs 20 100% 20 / 20

5 Jagath M D 27 secs 20 100% 20 / 20

6 Chethana T 10 secs 20 100% 20 / 20

7 Gaganpatil G V 22 secs 20 100% 20 / 20

8 Ananya.H Raj 16 secs 20 100% 20 / 20

9 Hima M 7 secs 20 100% 20 / 20

10 Abhijna S 19 secs 20 100% 20 / 20

11 Prajwal P 25 secs 20 100% 20 / 20

12 G .N.Nisarga Nisarga 27 secs 20 100% 20 / 20

13 Gagan Deep TV 34 secs 20 100% 20 / 20

14 Inchara S 6 secs 20 100% 20 / 20

15 Darshan Nv 31 secs 20 100% 20 / 20

16 Bhavana M K 6 secs 20 100% 20 / 20

17 Likhitha B S 4 secs 20 100% 20 / 20

18 Sp Kumar 34 secs 20 100% 20 / 20

19 Likhitha Likhitha 13 secs 20 100% 20 / 20

20 DEEKSHA M 20 secs 20 100% 20 / 20

21 Harsha K 31 secs 20 100% 20 / 20

22 Impana T.S. 25 secs 20 100% 20 / 20

23 Bhagath Mohan 14 secs 20 100% 20 / 20

24 Ananya P H 21 secs 20 100% 20 / 20

25 Inchara Poovaiah A 27 secs 20 100% 20 / 20

26 Hitashree S.G 11 secs 20 100% 20 / 20

27 Anvitha H M 26 secs 20 100% 20 / 20

28 Akshata Akshu 36 secs 20 100% 20 / 20

29 JYOTHI T N 21 secs 20 100% 20 / 20



Rank Player Name Avg. Time Points Accuracy Correct

30 Krupa U B 14 secs 19 95% 19 / 20

31 Harshitha S S 30 secs 19 95% 19 / 20

32 Kuberan A 9 secs 19 95% 19 / 20

33 dhvaneeth pbanakar 14 secs 19 95% 19 / 20

34 Likitha S 12 secs 19 95% 19 / 20

35 Amrutha M Holla 22 secs 19 95% 19 / 20

36 K P Nidhi 15 secs 19 95% 19 / 20

37 Uthpala R 74 secs 19 95% 19 / 20

38 Dhanalakshmi. S 24 secs 18 90% 18 / 20

39 Bhavana B M 94 secs 15 75% 15 / 20

40 Harsha Sangur 252 secs 13 65% 13 / 20

41 Gunjan Vjain 132 secs 13 65% 13 / 20

42 Dashami H N 188 secs 12 60% 12 / 20

43 Samruddhi Navale 203 secs 12 60% 12 / 20

44 Abhishek M N 3 secs 5 25% 5 / 20

45 Rishabh Jayaram 4 secs 5 25% 5 / 20

46 Aishwarya S 79 secs 2 10% 2 / 20

47 Ashwini S Ashu 248 secs 1 5% 1 / 20

48 Jnaneshwari R 0 secs 0 0% 0 / 20

49 HARSHA SB 18 secs 0 0% 0 / 20

50 HARSHA Sangur 0 secs 0 0% 0 / 20

51 Varun Varun 0 secs 0 0% 0 / 20



Quiz Name

Corrosion

Date

Fri Jul 02 2021 7:00 PM

Hosted by

chethan.s.g Sg

Average Accuracy

64%

Questions per Attempt

20

Number of Players

33

 This report displays results derived from the students' best attempts.

Players



Rank Player Name Avg. Time Score Accuracy Correct

1 4JN20ET036 Gujjar 19 secs 15210 100% 20 / 20

2 Varun V 11 secs 14750 85% 17 / 20

3 A M Mallikarjuna 13 secs 14840 85% 17 / 20

4 subhash chandra 8 secs 15540 85% 17 / 20

5 Meghana P Meghana Prabhakar 21 secs 12940 85% 17 / 20

6 Sannidhi TN 13 secs 13810 80% 16 / 20

7 Jeevan Jnnce 25 secs 11460 80% 16 / 20

8 Saishree P 13 secs 13650 80% 16 / 20

9 Aditi Sg 13 secs 13190 80% 16 / 20

10 shamita kamat 43 secs 11590 75% 15 / 20

11 Sneha Shidenur 6 secs 13590 75% 15 / 20

12 Nischitha r 30 secs 10180 70% 14 / 20

13 Ananya ETC 22 secs 10320 70% 14 / 20

14 Pranav swaroop K. S swaroop 12 secs 12290 70% 14 / 20

15 Bhoomika banakar 18 secs 11200 70% 14 / 20

16 Mahek Shaikh 15 secs 11590 70% 14 / 20

17 mohammed afroz 26 secs 10090 70% 14 / 20

18 Priyanka j 9 secs 12430 70% 14 / 20

19 SHIFANA FATHIMA-ETC 14 secs 10670 65% 13 / 20

20 Srinivas S 12 secs 11290 65% 13 / 20

21 Vismitha Salanke 19 secs 10210 65% 13 / 20

22 Tejashwini.D -TCE 17 secs 11050 65% 13 / 20

23 Rohini HN 29 secs 8980 65% 13 / 20

24 Inchara.J. Inchara.J. 8 secs 10610 60% 12 / 20

25 Bindu GP 19 secs 9240 60% 12 / 20

26 4JN20ET021 j 25 secs 8960 60% 12 / 20

27 Ankitha V 35 secs 8430 60% 12 / 20

28 Sudarshan Ramana 20 secs 8710 55% 11 / 20

29 Swathi C 7 secs 9080 50% 10 / 20



Rank Player Name Avg. Time Score Accuracy Correct

30 Afham Baig 10 secs 8780 50% 10 / 20

31 Priyanka N 16 secs 7640 50% 10 / 20

32 Dharithri H L 6 secs 8320 45% 9 / 20

33 Hruthik E&Tc 3 secs 3780 20% 4 / 20



Quiz Name

Electrochemistry

Date

Mon Jun 28 2021 9:15 AM

Hosted by

chethan.s.g Sg

Average Accuracy

62%

Questions per Attempt

20

Number of Players

58

 This report displays results derived from the students' best attempts.

Players



Rank Player Name Avg. Time Score Accuracy Correct

1 Varsha C U 5 secs 23160 100% 20 / 20

2 Vachana Belgod-CSE 11 secs 22280 100% 20 / 20

3 Vanyashree JS 3 secs 22600 100% 20 / 20

4 Prajna Prakash 42 secs 18600 100% 20 / 20

5 Surya S 29 secs 19580 100% 20 / 20

6 Shreya S Bharadwaj 10 secs 18760 100% 20 / 20

7 Yashaswini I K 8 secs 20900 95% 19 / 20

8 Mohmmed Sahil 44 secs 15880 95% 19 / 20

9 Sagar SR 46 secs 18410 95% 19 / 20

10 Dhanyatha Gowda 45 secs 15650 90% 18 / 20

11 Jason W George 21 secs 15390 90% 18 / 20

12 Swathi R 35 secs 15180 90% 18 / 20

13 Suhas D.B 3 secs 16900 90% 18 / 20

14 Amrutha S 8 secs 16990 90% 18 / 20

15 samarth sammu 22 secs 17960 90% 18 / 20

16 Samarth ng 14 secs 17210 90% 18 / 20

17 Sanjana K. J 68 secs 16320 90% 18 / 20

18 Vibha GM 68 secs 13220 90% 18 / 20

19 Tanmayee Sharvani 12 secs 17700 85% 17 / 20

20 Shivansh V 13 secs 15200 85% 17 / 20

21 4JN20CS125- Ahmed 51 secs 16290 85% 17 / 20

22 Sufiyan Khan 5 secs 17120 85% 17 / 20

23 Sakshi Reddy 13 secs 17010 85% 17 / 20

24 Vineet Kowti 11 secs 17700 85% 17 / 20

25 VIJENDRA S.N 35 secs 14790 85% 17 / 20

26 Rukmini s S 8 secs 17510 85% 17 / 20

27 vishwas ss 27 secs 15880 85% 17 / 20

28 Junaidh Fardeen 8 secs 16150 80% 16 / 20

29 Vinayashree Shet 53 secs 14100 80% 16 / 20



Rank Player Name Avg. Time Score Accuracy Correct

30 srijan sanicum 27 secs 14270 80% 16 / 20

31 Krupa H T Krupa H T 99 secs 12170 80% 16 / 20

32 Pooja R Pooja R 46 secs 11770 75% 15 / 20

33 Yathindra M 35 secs 14050 75% 15 / 20

34 Shravya D gowda 20 secs 14290 70% 14 / 20

35 Varshitha H 66 secs 10630 70% 14 / 20

36 Manya S H 45 secs 10890 70% 14 / 20

37 Syed Ahmed 55 secs 10830 70% 14 / 20

38 Anushree E C 10 secs 12150 65% 13 / 20

39 SUCHITRA R-CSE 70 secs 11490 65% 13 / 20

40 Ruchitha S R 75 secs 9560 65% 13 / 20

41 Sanjana T.R 9 secs 12090 65% 13 / 20

42 VAISHNAVI N 98 secs 10670 65% 13 / 20

43 Bhagannagouda P 53 secs 8770 60% 12 / 20

44 Shree -CSE 5 secs 10700 60% 12 / 20

45 SIRI K S 74 secs 9490 60% 12 / 20

46 Shreya Ganapathi 22 secs 11290 60% 12 / 20

47 Kushal KN 11 secs 10630 60% 12 / 20

48 Vinayaka Kudva 108 secs 10640 60% 12 / 20

49 4JN20CS026 Deepthi 63 secs 8090 55% 11 / 20

50 Pratheek CR 33 secs 8070 55% 11 / 20

51 MANIKYA G 6 secs 10400 50% 10 / 20

52 Banushree Sarji 110 secs 7440 50% 10 / 20

53 khushi raj 40 secs 7510 45% 9 / 20

54 Manoj P 56 secs 5330 35% 7 / 20

55 SANDEEP JADHAV 22 secs 4280 30% 6 / 20

56 Deepthi B.A 0 secs 0% 0 / 0

57 4JN20CS096 Shraddha C S Atreya 0 secs 0% 0 / 0

58 Spandana GL 0 secs 0% 0 / 0





Quiz Name

Electrochemistry

Date

Sun Jul 10 2022 7:54 PM

Hosted by

Chethan Chemistry

Average Accuracy

77%

Total Questions

20

Number of Players

78

Participant Attempts

142

 This report displays results derived from the students' all attempts.

Questions



No. Question Time Accuracy

Responses

Correct Incorrect Unattempted

1

Given their standard reduction
potentials, which of the species is
going to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

28 secs 423% 120 6 16

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

32 secs 387% 110 14 18

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

19 secs 387% 110 13 19

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

23 secs 401% 114 8 20

5 An oxidizing agent will 19 secs 401% 114 11 17

6
As an element is oxidized, its
oxidation number

31 secs 356% 101 25 16

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

17 secs 345% 98 28 16

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

22 secs 349% 99 24 19

9 Galvanic cells convert 17 secs 412% 117 9 16

10
When water is electrolyzed, gas
collected at cathode, is

18 secs 415% 118 7 17

11
Conductivity always ____________ with
a decrease in concentration

17 secs 384% 109 12 21

12
What is oxidation number of Cr in
Cr O ?

13 secs 415% 118 4 20

13 Which are examples of reduction? 25 secs 370% 105 20 17

14
Which change does nitrogen
undergo oxidation?

36 secs 387% 110 14 18

15 What reaction occurs at the anode? 21 secs 387% 110 14 18

16
Which direction do the electrons
flow in wire X and which metal is
oxidized?

27 secs 377% 107 16 19

17 Which statement best describes how 30 secs 377% 107 17 18

2+

2+

2+ 2+

+

2+

+

2+

+2 +3 +4 +2

+2 +3 +4 +2

2 7
2-



No. Question Time Accuracy

Responses

Correct Incorrect Unattempted

a salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

18
When an electrochemical cell is
operating, it is

34 secs 419% 119 4 19

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials
for two half reactions are given
above. The Nernst equation for a
galvanic cell at 25°C in which Fe(s)
reduces Ni  is the following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for
the reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

27 secs 384% 109 15 18

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

33 secs 338% 96 29 17

Appendix - Images

1.

Given their standard reduction potentials,

which of the species is going to be oxidized?

Cu /Cu

= 0.34V

Zn /Zn

= -0.76V

3.

What reaction occurs at the

anode?

Ag /Ag =

0.80V

Ni /Ni =

-0.25V

5.

An oxidizing agent will

2+ –

2+ –

2+

2+ 2+

2+ 2+

2+ 2+

+ 2+



6.

As an element is oxidized, its oxidation number

7.

In the following

reaction

Sn  + 2Fe  --> Sn

+ 2Fe ,

the reducing

agent is...

8.

In the following

reaction

Sn  + 2Fe  → Sn

+ 2Fe

the oxidizing

agent is....

9.

Galvanic cells convert

10.

When water is electrolyzed, gas collected at

cathode, is

+2 +3 +4

+2

+2 +3 +4

+2



13.

Which are examples of reduction?

14.

Which change does nitrogen undergo oxidation?

15.

What reaction occurs at the anode?

16.

Which direction do the electrons flow in wire X and

which metal is oxidized?

20.
Which of the following statements applies to the change in

mass of the electrodes involved in this electrochemical cell?

Players



Rank Player Name Avg. Time Points Accuracy Correct

1 (N Nisarga) 61 secs 75 75% 15 / 20

2 (N Nisarga*) 6 secs 100 100% 20 / 20

3 (Vinay K M) 48 secs 85 85% 17 / 20

4 (Shashank HN) 38 secs 75 75% 15 / 20

5 (Shashank HN*) 10 secs 85 85% 17 / 20

6 (Pratiksha Shetty) 28 secs 70 70% 14 / 20

7 (Bhuvan) 46 secs 65 65% 13 / 20

8 (Bhuvan*) 8 secs 100 100% 20 / 20

9 (Bhuvan**) 6 secs 95 95% 19 / 20

10 (Mythri S P) 25 secs 95 95% 19 / 20

11 (Mythri S P*) 12 secs 15 15% 3 / 20

12 (Mythri S P**) 8 secs 65 65% 13 / 20

13 (Mythri S P***) 18 secs 0 0% 0 / 20

14 (Mythri S P****) 6 secs 100 100% 20 / 20

15 (Mythri S P*****) 4 secs 100 100% 20 / 20

16 (Nuthan S B) 63 secs 100 100% 20 / 20

17 (Saanvi BS) 51 secs 90 90% 18 / 20

18 (Saanvi BS*) 7 secs 65 65% 13 / 20

19 (Saanvi BS**) 8 secs 0 0% 0 / 20

20 (Saanvi BS***) 5 secs 100 100% 20 / 20

21 (PRAJWAL.KS) 32 secs 80 80% 16 / 20

22 (PRAJWAL.KS*) 7 secs 100 100% 20 / 20

23 (PRAJWAL.KS**) 5 secs 100 100% 20 / 20

24 (Prajwal DG) 0 secs 0 0% 0 / 20

25 (Prajwal DG*) 14 secs 40 40% 8 / 20

26 (Prajwal DG**) 6 secs 95 95% 19 / 20

27 (Prajwal DG***) 6 secs 100 100% 20 / 20

28 (Prajwal DG****) 3 secs 100 100% 20 / 20

29 (Anukeerthana MB) 29 secs 90 90% 18 / 20



Rank Player Name Avg. Time Points Accuracy Correct

30 (Anukeerthana MB*) 4 secs 55 55% 11 / 20

31 (Anukeerthana MB**) 6 secs 35 35% 7 / 20

32 (Anukeerthana MB***) 7 secs 100 100% 20 / 20

33 Deepa Shree (Deepashree.M*) 7 secs 100 100% 20 / 20

34 (Shubha H R) 12 secs 90 90% 18 / 20

35 (Raghu P R) 49 secs 95 95% 19 / 20

36 (Raghu P R*) 9 secs 95 95% 19 / 20

37 (Raghu P R**) 7 secs 100 100% 20 / 20

38 (Syeda Shafiya Anjum) 32 secs 80 80% 16 / 20

39 (Syeda Shafiya Anjum*) 4 secs 90 90% 18 / 20

40 (Syeda Shafiya Anjum**) 3 secs 95 95% 19 / 20

41 Priyanka Kadati (Priyanka Kadati) 6 secs 100 100% 20 / 20

42 (Chandana D R) 46 secs 80 80% 16 / 20

43 (Chandana D R*) 6 secs 90 90% 18 / 20

44 (Nanditha N Raj) 36 secs 70 70% 14 / 20

45 (Nanditha N Raj*) 7 secs 100 100% 20 / 20

46 (Revanth MA 4jn21cs129) 41 secs 100 100% 20 / 20

47 (Ananya.R) 67 secs 5 5% 1 / 20

48 (Ananya.R*) 0 secs 0 0% 0 / 20

49 (Ananya.R**) 21 secs 5 5% 1 / 20

50 (Sharanya Y S) 68 secs 100 100% 20 / 20

51 (Sharanya Y S*) 0 secs 0 0% 0 / 20

52 Pratheek T.G (Pratheek T.G*) 11 secs 80 80% 16 / 20

53 Pratheek T.G (Pratheek T.G**) 5 secs 100 100% 20 / 20

54 (Nisarga N) 74 secs 95 95% 19 / 20

55 (Nisarga N*) 7 secs 100 100% 20 / 20

56 (Shridhar BG 4JN21CS157) 45 secs 95 95% 19 / 20

57 (Bhoomika p) 53 secs 60 60% 12 / 20

58 (Bhoomika p*) 8 secs 80 80% 16 / 20



Rank Player Name Avg. Time Points Accuracy Correct

59 (Bhoomika p**) 5 secs 0 0% 0 / 20

60 (Rehan khan) 31 secs 100 100% 20 / 20

61 (SANGAM S S) 13 secs 45 45% 9 / 20

62 (SANGAM S S*) 7 secs 40 40% 8 / 20

63 (Rashmi K S) 65 secs 80 80% 16 / 20

64 (Rashmi K S*) 6 secs 95 95% 19 / 20

65 (Rashmi K S**) 4 secs 100 100% 20 / 20

66 (Bhavana v) 41 secs 55 55% 11 / 20

67 (Bhavana v*) 13 secs 100 100% 20 / 20

68 (Bhavana v**) 4 secs 100 100% 20 / 20

69 (Sanjay PS) 39 secs 95 95% 19 / 20

70 (Prateeksha A) 48 secs 100 100% 20 / 20

71 (wawa) 2 secs 15 15% 3 / 20

72 (wawa*) 2 secs 40 40% 8 / 20

73 (Nandan H.K.) 38 secs 70 70% 14 / 20

74 SAKETH N SHET (Saketh N Shet*) 10 secs 95 95% 19 / 20

75 (Poorvi T.C) 41 secs 75 75% 15 / 20

76 (Nayana HG) 66 secs 90 90% 18 / 20

77 (Nayana HG*) 0 secs 0 0% 0 / 20

78 (VN SUKUMAR) 45 secs 95 95% 19 / 20

79 (VN SUKUMAR*) 5 secs 100 100% 20 / 20

80 (Pallavi.g.v) 47 secs 90 90% 18 / 20

81 (Pallavi.g.v*) 8 secs 100 100% 20 / 20

82 (Pallavi.g.v**) 8 secs 100 100% 20 / 20

83 (Shrinidhi SR) 9 secs 100 100% 20 / 20

84 (Pramod J) 59 secs 80 80% 16 / 20

85 (Pramod J*) 7 secs 100 100% 20 / 20

86 (Shreya k .u) 33 secs 75 75% 15 / 20

87 (Shreya k .u*) 14 secs 95 95% 19 / 20



Rank Player Name Avg. Time Points Accuracy Correct

88 (Jogi) 0 secs 0 0% 0 / 20

89 (Saketh N Shet) 35 secs 95 95% 19 / 20

90 (PAREEKSHITH M) 9 secs 85 85% 17 / 20

91 (PAREEKSHITH M*) 6 secs 80 80% 16 / 20

92 (PAREEKSHITH M**) 4 secs 85 85% 17 / 20

93 (PAREEKSHITH M***) 4 secs 100 100% 20 / 20

94 (Patel M J) 36 secs 60 60% 12 / 20

95 (Patel M J*) 0 secs 0 0% 0 / 20

96 (Sahana k) 54 secs 100 100% 20 / 20

97 (Sahana k*) 9 secs 100 100% 20 / 20

98 (Nikhil BN) 33 secs 100 100% 20 / 20

99 (Sumanth p s) 29 secs 50 50% 10 / 20

100 (Sumanth p s*) 11 secs 100 100% 20 / 20

101 (Om Singh) 48 secs 100 100% 20 / 20

102 (Prathima H K) 59 secs 75 75% 15 / 20

103 (Shreya g) 15 secs 80 80% 16 / 20

104 (Mohammed Waseem) 7 secs 25 25% 5 / 20

105 (Mohammed Waseem*) 6 secs 65 65% 13 / 20

106 (S Nischal 4jn21cs131) 47 secs 80 80% 16 / 20

107 (Natasha. H. N.) 33 secs 85 85% 17 / 20

108 (Natasha. H. N.*) 4 secs 90 90% 18 / 20

109 (Natasha. H. N.**) 3 secs 100 100% 20 / 20

110 (Rajath s sajre) 0 secs 0 0% 0 / 20

111 (Swathi P Patel) 49 secs 80 80% 16 / 20

112 (Shreyas Karnik) 43 secs 85 85% 17 / 20

113 (Shreyas Karnik*) 14 secs 100 100% 20 / 20

114 (Punarvi B S) 23 secs 70 70% 14 / 20

115 (Shashwath K Rao) 22 secs 95 95% 19 / 20

116 (Shashwath K Rao*) 7 secs 100 100% 20 / 20



Rank Player Name Avg. Time Points Accuracy Correct

117 (Shashwath K Rao**) 6 secs 100 100% 20 / 20

118 (shami) 3 secs 100 100% 20 / 20

119 (Ñavaneeth Y) 58 secs 100 100% 20 / 20

120 (Ñavaneeth Y*) 12 secs 95 95% 19 / 20

121 (Rajath s sakre) 8 secs 85 85% 17 / 20

122 (Ruchitha K P) 48 secs 100 100% 20 / 20

123 (Ruchitha K P*) 0 secs 0 0% 0 / 20

124 (Nithin B M) 41 secs 95 95% 19 / 20

125 B. Nandan H K . Cse (Nandan H.K.*) 0 secs 0 0% 0 / 20

126 (Deepashree.M) 70 secs 100 100% 20 / 20

127 (Sathwik S M) 38 secs 95 95% 19 / 20

128 (Sathwik S M*) 5 secs 95 95% 19 / 20

129 (Ravikant shri Biradar) 45 secs 80 80% 16 / 20

130 (Ravikant shri Biradar*) 9 secs 85 85% 17 / 20

131 (Ravikant shri Biradar**) 9 secs 100 100% 20 / 20

132 (Prathiba vm) 43 secs 75 75% 15 / 20

133 (Pratheek T.G) 40 secs 100 100% 20 / 20

134 (Vaishnavi HK) 31 secs 75 75% 15 / 20

135 (Ananya R) 4 secs 100 100% 20 / 20

136 (Pranathi T) 63 secs 90 90% 18 / 20

137 (Pranathi T*) 11 secs 95 95% 19 / 20

138 (Priyanka Parashuram Kadat) 44 secs 100 100% 20 / 20

139 (Ankitha G S) 20 secs 35 35% 7 / 20

140 (Monisha y c) 31 secs 85 85% 17 / 20

141 Nithin Padthare (Nithin B M*) 5 secs 85 85% 17 / 20

142 (Shivani U) 56 secs 90 90% 18 / 20



Quiz : Electrochemistry

Date : Sun Jul 10 2022 7:54 PM

Student :  N Nisarga (N Nisarga*)

Accuracy

100%

Total Questions

20

 Correct

20

 Incorrect

0



No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ –
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2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ –

2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D

2+

2+

2+ 2+

+

2+

2+ -

+

2+

+2 +3 +4 +2 +2

+2 +3 +4 +2 +3

2 7
2-

2+ -



No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D

2+

2+

2+ 2+

+

2+

2+ -

+

2+

+2 +3 +4 +2 +2

+2 +3 +4 +2 +3

2 7
2-

2+ -



No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D

2+

2+

2+ 2+

+

2+

2+ -

+

2+

+2 +3 +4 +2 +2

+2 +3 +4 +2 +3

2 7
2-

2+ -



No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ –

2+

2+ 2+

2+ 2+
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ –
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2+ 2+

2+ 2+
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D

2+

2+

2+ 2+

+

2+

2+ -

+

2+

+2 +3 +4 +2 +2

+2 +3 +4 +2 +3

2 7
2-

2+ -



No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ –
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2+ 2+
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –
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2+ 2+

2+ 2+
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ –
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2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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Accuracy
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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2+ 2+

+
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+
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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+
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ –
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2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ –
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2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D

2+

2+

2+ 2+

+

2+

2+ -

+

2+

+2 +3 +4 +2 +2

+2 +3 +4 +2 +3

2 7
2-

2+ -



No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D

2+

2+

2+ 2+

+

2+

2+ -

+

2+

+2 +3 +4 +2 +2

+2 +3 +4 +2 +3

2 7
2-

2+ -



No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ –
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2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D

2+

2+

2+ 2+

+

2+

2+ -

+

2+

+2 +3 +4 +2 +2

+2 +3 +4 +2 +3

2 7
2-

2+ -



No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ –
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2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –
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2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –
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2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ –
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2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ –

2+

2+ 2+

2+ 2+
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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2+ –

2+

2+ 2+

2+ 2+

7



Quiz : Electrochemistry

Date : Sun Jul 10 2022 7:54 PM

Student :  wawa (wawa*)

Accuracy

40%

Total Questions

20

 Correct

8

 Incorrect

1

 Unattempted

11



No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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No. Question Time Points Response

1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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No. Question Time Points Response

17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.
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1

Given their standard reduction
potentials, which of the species is going
to be oxidized?
Cu /Cu = 0.34V
Zn /Zn = -0.76V

5 5  Zn

2
What occurs to the mass of copper
electrode in the following reaction?
Zn/Zn  // Cu /Cu

3 5  increases

3
What reaction occurs at the anode?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

13 0  Ni  + 2e  → Ni

4

What would be the theoretical cell
potential of the previous
electrochemical cell?
Ag /Ag = 0.80V
Ni /Ni = -0.25V

18 5  1.05V

5 An oxidizing agent will 5 5  be reduced

6
As an element is oxidized, its oxidation
number

22 5 
increases as electrons are

lost

7
In the following reaction
Sn  + 2Fe  --> Sn  + 2Fe ,
the reducing agent is...

10 5  Sn

8

In the following reaction

Sn  + 2Fe  → Sn  + 2Fe

the oxidizing agent is....

9 5  Fe

9 Galvanic cells convert 4 5 
chemical energy in to

electrical energy

10
When water is electrolyzed, gas
collected at cathode, is

49 0  sulphur

11
Conductivity always ____________ with a
decrease in concentration

34 5  decreases

12
What is oxidation number of Cr in
Cr O ?

3 5  +6

13 Which are examples of reduction? 6 0  I and II

14
Which change does nitrogen undergo
oxidation?

135 5  D

15 What reaction occurs at the anode? 14 5  Ni → Ni  + 2e

16
Which direction do the electrons flow in
wire X and which metal is oxidized?

11 5  D
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17

Which statement best describes how a
salt bridge maintains electrical
neutrality in the half-cells of an
electrochemical cell?

19 5 
It permits the migration of

ions.

18
When an electrochemical cell is
operating, it is

11 5  approaching equilibrium

19

Fe  + 2e  → Fe(s) E° = –0.44 volt
Ni  + 2e  → Ni(s) E° = –0.23 volt
The standard reduction potentials for
two half reactions are given above. The
Nernst equation for a galvanic cell at
25°C in which Fe(s) reduces Ni  is the
following.
E = E° – 0.03 log [Fe ]/[Ni ]
What is the equilibrium constant for the
reaction below?
Fe(s) + Ni  → Fe  + Ni(s)

30 5  1.3 × 10

20

Which of the following statements
applies to the change in mass of the
electrodes involved in this
electrochemical cell?

8 5 

Electrode A is the cathode

and it gains mass since

metal ions are being

converted to metal atoms

which often adhere to the

electrode.

2+ –

2+ –

2+

2+ 2+

2+ 2+

7



Quiz Name

Electrochemistry

Date

Sun Jul 10 2022 7:54 PM

Hosted by

Chethan Chemistry

Average Accuracy

77%

Questions per Attempt

20

Number of Players

78

 This report displays results derived from the students' best attempts.

Players



Rank Player Name Avg. Time Points Accuracy Correct

1 N Nisarga 6 secs 100 100% 20 / 20

2 Bhuvan 8 secs 100 100% 20 / 20

3 Mythri S P 6 secs 100 100% 20 / 20

4 Nuthan S B 63 secs 100 100% 20 / 20

5 Saanvi BS 5 secs 100 100% 20 / 20

6 PRAJWAL.KS 5 secs 100 100% 20 / 20

7 Prajwal DG 6 secs 100 100% 20 / 20

8 Anukeerthana MB 7 secs 100 100% 20 / 20

9 Deepa Shree 7 secs 100 100% 20 / 20

10 Raghu P R 7 secs 100 100% 20 / 20

11 Priyanka Kadati 6 secs 100 100% 20 / 20

12 Nanditha N Raj 7 secs 100 100% 20 / 20

13 Revanth MA 4jn21cs129 41 secs 100 100% 20 / 20

14 Sharanya Y S 68 secs 100 100% 20 / 20

15 Pratheek T.G 5 secs 100 100% 20 / 20

16 Nisarga N 7 secs 100 100% 20 / 20

17 Rehan khan 31 secs 100 100% 20 / 20

18 Rashmi K S 4 secs 100 100% 20 / 20

19 Bhavana v 4 secs 100 100% 20 / 20

20 Prateeksha A 48 secs 100 100% 20 / 20

21 VN SUKUMAR 5 secs 100 100% 20 / 20

22 Pallavi.g.v 8 secs 100 100% 20 / 20

23 Shrinidhi SR 9 secs 100 100% 20 / 20

24 Pramod J 7 secs 100 100% 20 / 20

25 PAREEKSHITH M 4 secs 100 100% 20 / 20

26 Sahana k 54 secs 100 100% 20 / 20

27 Nikhil BN 33 secs 100 100% 20 / 20

28 Sumanth p s 11 secs 100 100% 20 / 20

29 Om Singh 48 secs 100 100% 20 / 20



Rank Player Name Avg. Time Points Accuracy Correct

30 Natasha. H. N. 3 secs 100 100% 20 / 20

31 Shreyas Karnik 14 secs 100 100% 20 / 20

32 Shashwath K Rao 7 secs 100 100% 20 / 20

33 shami 3 secs 100 100% 20 / 20

34 Ñavaneeth Y 58 secs 100 100% 20 / 20

35 Ruchitha K P 48 secs 100 100% 20 / 20

36 Deepashree.M 70 secs 100 100% 20 / 20

37 Ravikant shri Biradar 9 secs 100 100% 20 / 20

38 Pratheek T.G 40 secs 100 100% 20 / 20

39 Ananya R 4 secs 100 100% 20 / 20

40 Priyanka Parashuram Kadat 44 secs 100 100% 20 / 20

41 Syeda Shafiya Anjum 3 secs 95 95% 19 / 20

42 Shridhar BG 4JN21CS157 45 secs 95 95% 19 / 20

43 Sanjay PS 39 secs 95 95% 19 / 20

44 SAKETH N SHET 10 secs 95 95% 19 / 20

45 Shreya k .u 14 secs 95 95% 19 / 20

46 Saketh N Shet 35 secs 95 95% 19 / 20

47 Nithin B M 41 secs 95 95% 19 / 20

48 Sathwik S M 38 secs 95 95% 19 / 20

49 Pranathi T 11 secs 95 95% 19 / 20

50 Shubha H R 12 secs 90 90% 18 / 20

51 Chandana D R 6 secs 90 90% 18 / 20

52 Nayana HG 66 secs 90 90% 18 / 20

53 Shivani U 56 secs 90 90% 18 / 20

54 Vinay K M 48 secs 85 85% 17 / 20

55 Shashank HN 10 secs 85 85% 17 / 20

56 Rajath s sakre 8 secs 85 85% 17 / 20

57 Monisha y c 31 secs 85 85% 17 / 20

58 Nithin Padthare 5 secs 85 85% 17 / 20



Rank Player Name Avg. Time Points Accuracy Correct

59 Bhoomika p 8 secs 80 80% 16 / 20

60 Shreya g 15 secs 80 80% 16 / 20

61 S Nischal 4jn21cs131 47 secs 80 80% 16 / 20

62 Swathi P Patel 49 secs 80 80% 16 / 20

63 Poorvi T.C 41 secs 75 75% 15 / 20

64 Prathima H K 59 secs 75 75% 15 / 20

65 Prathiba vm 43 secs 75 75% 15 / 20

66 Vaishnavi HK 31 secs 75 75% 15 / 20

67 Pratiksha Shetty 28 secs 70 70% 14 / 20

68 Nandan H.K. 38 secs 70 70% 14 / 20

69 Punarvi B S 23 secs 70 70% 14 / 20

70 Mohammed Waseem 6 secs 65 65% 13 / 20

71 Patel M J 36 secs 60 60% 12 / 20

72 SANGAM S S 13 secs 45 45% 9 / 20

73 wawa 2 secs 40 40% 8 / 20

74 Ankitha G S 20 secs 35 35% 7 / 20

75 Ananya.R 67 secs 5 5% 1 / 20

76 Jogi 0 secs 0 0% 0 / 20

77 Rajath s sajre 0 secs 0 0% 0 / 20

78 B. Nandan H K . Cse 0 secs 0 0% 0 / 20


